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Processing Lishmon is required; writing Lishmon is not required?!

OVERVIEW

The X713 cited a contradiction between two rulings of 2"2wA. In one X072 he rules
that one may buy a n"o which a »21 wrote (indicating that we do not need 12°n>
"W [for presumably the »31 is not writing 7nw?]), while in another &n°*12 we find
that 3"2w" requires that the N 7M2°Y must be "nwH. The X asks if 3"awn
requires the nnw? 72%y, he should certainly require that the 712°n> be w5, Our
Mmoo has a difficulty with this question.

nvoN asks:
- NP 1IYY NANDNT P RY SNT 1AYY NN XYY NYH

There is a difficulty; perhaps we do not require that the 772°n> be explicitly

7w, for presumably a n"o is written R -
- 399 PYANY INY MY 7’Y ONO YaN

However curing hides generally are not intended to be used for 3°9°5n, therefore
3"2w requires that the 712°Y be specifically mnw? —

mMooIN anticipates and rejects a possible solution to his question:
$°99 NANINT YNWN ¥ KD 1YY NN IIRPTINT 312%9D 729¥1) 1999 9aN0N XY

And it is not logical to assume that the X713 is asking a contradiction from one
rule regarding 712 (that nnw> is not required) to the other ruling regarding 712%
(where 1w is required); we cannot assume that, since the X3 states ‘do we not
require 7»wY 72°n2’; this indicates that he is asking from the ruling regarding

772502 on the ruling of M2 (but not from T2°¥% T2°Y), so the question remains that by 72°n3 we
perhaps do not require an explicit Tnw>!

SUMMARY
There is seemingly no contradiction for 772°n3 is 7AW? X»NO, however by MY 712w

! A marginal note indicates that this N19010 should be inserted earlier (before Tv 7"7).
2 When the 21 is writing the n"0 (even without a specific 7aw 7a112), he is writing it for a n"o, that 731> is sufficient
to render it 7aW>.
3 Perhaps the contradiction was as follows; from the ruling of 3"2w that we can by a n"o from a >731, we can infer
that we do not require 7w? 72y (for it is hardly likely that this parchment, which was found by the 21 was 72v1
7nwY [and as MooIN just said »°°p P20N% W MW ono]), and in the other Xn*>72 we find that 23"2w1 requires T2
7w, Our MoOIN rejects this interpretation of the s'k M3 question. See ‘Thinking it over’.
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it is WY RS XNo, therefore we require 7AWS T2V,

THINKING IT OVER
Why indeed did the X3 not ask T12°¥% 712>V as MooIN suggested?!

4 See (footnote # 3 and) yw T *10.
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